Books Never Written
e What's That Smell?

o "ns 16 -G 17 5] 13 76 -9 45 -1 17
e Too Sick For School

by

5S4 15 11 17 =4 47 27 16 -5
e My Talking Alarm Clock

by

9 %2 45 =61 45 7 99 -0

k+ 8.3 = 19.8
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Solve, then cross out the letter above the solution. When
you're finished, the answer to the title question will remain.

2.y +8 =15 3.9+ x =2
4, d-16= -5 5. —6 + u =22 6. a+11=-14
7.18 =k +1 8.7=p-12 9. -3 = b + 60
10. 11 — (—x) = 44 11. -5 — (-m) = 92 12. y — (—27) = 4

13. In 3-way light bulbs, the highest wattage 14. It was an extremely cold day on

is the sum of the two lower ones. If the the mountain. The temperature
lowest is 60 watts, and the highest is dropped 22° to —~13° F, What was
150 watts, what is the middle wattage? the temperature before the drop?

BII|IG|l O |UMP|T H O|E
33|-32|5°F|90W|19| 7 |-25|97 |75 W|-7|28

16. -7 + v + 15 = -2 17.10+gq-3=6-5
18.3-16=-9 + k 19. -8 =12 +t-5 20. 43 +7 + x —16=0
~1_3 _3 = 1 2 1

21. d- 3 =% ‘22. S+ n=—Z 23. £ = b~ 3

24. x —(~30) =100 -9 25.2m +7 —m = -40  26. 0 = -3y - 10 + 4y

27. The sum of the angle measures of  28. The perimeter of this 25 in.
any triangle is 180°. If one angle quadrilateral is 100 in. o7 |
of a triangle measures 35° and What is the length of 1
another angle measures 72°, what the side not given?

is the measure of the third angle?

N [KIE|SIE|lW| I | TIN|IOIU|PIGIE
in|68]|—L T 15|21
18 in.| 68 5 39|57]73°15 in. 12 53110{-15 5175 61
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Solve each 6@uatjon in the top block and find the solution in the bottom block. Transfer the word
from the top box to the corresponding bottom box. You'll get a “high five” for a high five.
. TH E To A 0 F :_:-=;{!_._:
4 1lx = 99 7—4,7(-—36 g-—-S :'g-—l
4
{1 2 3 &
\ BECAUSE WHO HAS FREE
S| -15x=-75 X = _79 18x = 180 =X = 95
4 ~2 4
> 6 7 8
THE QUINT CONGRATUI.ATIONS AIRLINE
badf X = _ = — _n_ ~12n = —
> 300 2 45x 360 6 20 12n 144
4
1 10 1 12
GOT PROGRAM TICKETS MOTHER
- - = = I = e - —1
H o0 4 42 14n 16 6 490 n 50 9
{
:
& |13 14 : 15 16
PLANE FREE QUINTUPI.ETS FLYER
-_n_ _ = — _n _ - =
/ 80 30 25n 1000 3 40 99n
417 18 | [k 20
G VN VN NN NNV VIV
AAAAAAAAAAAAAAAAAAAAAA A A ¢
Wyl n=-120 x=-9 = —600 n = 450 x = —-36
4
4 = —bH20 x =144 n=3 x = —=100 n = 2400
bad
n=-70 x=5 x =9 n=12 x =10
4
hed x =40 n = -40 x = -8 n=0 n = 266 \
bed \
N N 7
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amous Honolulu Keyboarding School

Cross out the letter pair next Lo each correct eolution. For each letter pair that you
DON'T cross out, write the uppercase letter in the box containing the lowercase letter.

= 80 @ -36=-18d 3 0 19 -2 =3a —-10a

& 2=-16 @ lo=16

(L Ken is thinking of a number. The
product of the number and 7 is -350. quotient of her number and —4 is -90.
Find Ken's number. What is Barbie’s favorite number?

2 108 )

o000 9888000309003 0088300030084000000C000CP0A0009S00B00SSSEO00ONAISISOHGIRIOCO0GRI0O00D0000A0000000000000000008000904040009D030

01t) Argyle sells computers. He keeps one €4Y The area of a TV screen is 576 square
eighth of his sales as a commission. inches. If the width of the screen is
How much must he sell to earn $500? : 32 in., what is the height?

208000095000

€D x-5x=8" @ ty=+

3

28] x—i%x=7

£ Lisa is 14 years old. Her age is Eon runs a music store. He sells CD's for 1.6
two sevenths of her father's age. times what he pays for them. If Eon sells a
How old is Lisa's father? CD for $15.20, how much did he pay for it?

Equations and Problems: PUNCHLINE e Aigebra « Book A
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. Who Thought He Wag Mickey Mouge
" One Day and Donald Duck the Next?

Solve the equation, then find your solutlon in the corresponding answer
boxes. Write the letter of the exerclee In the box containing the answer.

A 8+ x =40 I-g-

E -9b = -99 6 -3=k+75 A —%w=—13.
N -11 +m =50 U 65 =2x —7x H 10-(-d)=3
Y 2b=12 R 15 + u - 22 = 92 V on=1

L1328 |11]| 75| -7 104

""-2'=§ —é = — . —
Lw-5=35 S -gx =230 Y 2-7=-3+t+24
E —4.5¢ = -324 S —4¢-96+5c=0 L —-%m——%

= 3 —lzg —1_5_0
D 18=b+5 P n 3 5 N 8x 9x—10

oolon-
[
o

-107| -£ |9.6|-15| 48 |-35|-92[180 | 1L | 7.2
9 15
Equations and Problems: PUNCHLINE = Algebra » Book A
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@) Karma's age is 2 years Q{0 Last week Kiwi filled his
less than three eighths ¥ 16-gallon tank with gas.
of her father's age. If § On the average, his car
Karma is 13 years old, & burns 0.03 gallon of gas
how old is her father? § per mile. If Kiwi has 4

% gallons left in his tank,
how many miles has he
driven?

) €2 The drawing shows

a stack of paper
cups. The cups
are 10 cm high.
Each cup after the
first adds 0.8 cm
to the height of the
stack. How many
cups will fit in a dispenser
that is 30 cm high?

of bxes

Equations and Problems:
Solving Two-Step Equations
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WORLD'S MOST EXPENSIVE COLLEGE

1
-9 -3 -35
-10 15 -4 2
1| -9
—20 43 1 12 :
N -7 15 25
4 ~14
1 -8 181 /13
1 1
2_2_ —285 / i
11| ° |4 8 16 -6
Shade In the area contalning each solution.
CL.5x +2(x +4) = 64 2. 9(y - 2)+4 =31 3.7 + 4(2a + 15) = -13
4. 6(n—-5)-1ln=0 5. 20 = 8 + 3(12 + 4x) 6. —2(w = 7) + 10w = 34
7. 9y — 4(y + 5) = 40 8.10-3(m-2)=8 9. 16d ~ (4 — 5d) = —67
10. 7(6x —1) + x =86 1L 11 -2(8 +3p)=7>  12. 2(5b +11) =19
2 5 =
13. S(4m - 18) =12 14. 75 = 3(-10t — 3) + 6t 15. —F(9 + 2x) = 40
16. Write an equation and 3% —9 17. The Big Screamer Coaster carries 92 people

solve for x if the area
of this rectangle is
133 square units.

altogether. Some of its cars carry 4 passengers,
and the rest carry 6 passengers. There are
three less 6-passenger cars than 4-passenger
cars. How many 4-passenger cars are there?

Equations and Problems: PUNCHLINE = Algebra « Book A
Solving Equations with Parentheses ©2006 Marcy Mathworks
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What Do You Call Someone Who Can't Tuwrn Pancakes

Cross out the letter pair next to each correct solution. a|blcld|e|f|g|h
For each letter pair you DON'T cross out, write the upper

case letter in the box containing the lower case letter.

@ 5n-2=n+18

g% -3 —10x = 25 + 4x

) 15a = 6a — 90

Xavier is thinking of a number. Nine more than
four times the number is the same as fifteen less
than twice the number. What is Xavier's number?

Sodpdpd pdmdpdmdm

116 — by =1-4y

B) —3t—8 + 7t =34 +9t — 2

&) 2a + 3a + 4a = 5a - 18

¢0 Yvonne is thinking of a number. Fifty, decreased by
three times the number, is the same as seven times the
number, increased by 80. What is Yvonne’s number?

St pd mdmpd s nd

g0 20 — 9w = 4(15 — w)

6B 5(x +4)=7x — 26

3 2(11 + 3n) =12n

g 10 -4(p +7) =20 - p)

&) 11x = 8x — 3(5 - 2x) 2y 9 — 6(4u - 1) =u+15

Spdpdpdpd pdpdm

@I} Zabato is thinking of a number. Three times the
sum of the number and ten is the same as eight
times the number. What is Zabato’s number?

<p

Equations and Problems: PUNCHLINE = Algebra = Book A
Solving Equations With the Variable on Both Sides ©2006 Marcy Mathworks
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Ue _
So Nuch Trouble QW ith 0N ath?

Solve each equation or problem and find your solution in the answer column.
Write the letter of the answer in each box that contalns the exercise number.
If the answer has a o, shade in the box Instead of writing a letter in it.

| D 8x+15=3x-20

@18-—5y=y+4

I ® 11d=81-16a

(@) 9n -2 =7n + 50

Answers 1-9

(@ -7a-10 =20 - 3a
(®) 22 -x=5+6x+9

(8) 33 +15w = 3w — w + 4w

10b—25 —~3b=4b -1

The Sun Spa charges annual dues of $125 plus $10 per hour
: | to use the facilities. The Moon Spa charges annual dues of
o $230 plus $7 per hour to use the facilities. For what number
o of hours would the two spas charge the same total amount?

9(m—2)=m+40 3(2p+7)=15(p—-4)

Bx +2(11 —4x) =82 + x

Anewers 10-18

16 — 5(3t — 4) = 8(—2¢t +11)

7(7c + 1) - 4e = 13(3c - 2) @ 12(5 + 2y) =4y — (6 - gy)

3q —16q =7 + 2(-8q — 3)

14 — 3(5t —12) =1 — (20t +1)

Simon says: “Five times my age 4 years ago is the same
.  as 3 times my age in 2 years.” How old is Simon now?

& @—6

Equations and Problems:

PUNCHLINE » Algebra = Book A
Solving Equations With the Variable on Both Sides
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1. How Did Farmer John Find His Missing Cow?

1 7 2 1 1
-6 125 13 11 —-10 4§ —4-:—3— 11 163 10 9.2

2. How Did the Cow Get Over the Block of Hay?

)

4 -12 7.4 -14 12-%

ai]—
o
=
w

54 -6 12+ —2

P.-5+n+16 = -3 0.4x — x = 72 Ss.11+2 =190

o0 ag as TOI000000003802000003C000055003990050500020000000900009060000000000000000000009000000000000202000980

A. 4 =18 - 3w N.2b+1 = -11 E. -9 +2(x + 6) = 28

020400000000000000000203030090003000 L] enes 20800 29090000090 000000093000000040005020000890 E

U.7y - 4(3y — 5) =80  C.10k+3 = 6k — 15 B. 2 +m =+

------------------- 9850000000 0000093600820000840099000000¢0020020000000000Q000000000200000800

W.7 = -3 J. 50 = —2 +13q H.5——§-d=32

LAL 03030000000000300003000000000000400000803090009000000000000000000800020C20000002000909058000

5— =18 R 42y +9) =3y —14 M 25n ~ (-8.2) = 26.7

Equations and Prablems: PUNCHLINE = Algebra » Book A
Solving Equations (Review) ©2006 Marcy Mathworks
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